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; 1 The number 2 8 2 2 1 is divisible by which of the following:
mzszmﬁw%ﬁﬁﬁﬁmﬁﬁmﬁﬁzﬁwﬁ%‘?

S En” e e tdipir2 822 Lok
(A) 2 (B) 3
(C) 6 (D) 9

2. If [3X 74] is a number divisible by 9, then the least value of X is:
Ay [3X74] U AT & S 9§ AT B & AT X Bl AT el

EIT:
St e §X e ton s = 920w LI[3X T41)]
(A) 1 (B) 2
(C) 3 (D) 4

m

3. Which of the following is the value of 'm' in Z—_— =6°7?

2 =6° # F=feaiRad # & &9 'm' &1 geg ghm?

6‘3 -
(fmﬁp('m'ufcuﬁd}gjﬂui 2_: -6°
(A) -3 (B) -2
(C) 3 (D) 2

4. If an increase in one quantity brings about a corresponding decrease
in the other and vice versa, then the two quantities vary:
(A) Directly
(B) Inversely

(C) Sometimes directly and sometimes inversely
(D) None of these.

afe fooxl w4 g8 gie 9 g/ A § RN & w9 B 2 Sﬁ??ﬁﬁ\?
fauRT ft &t 8, ar <7 W At &

(A) TET Y W (B} Rt s i
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5. Which of the following is the base of a tetrahedron?

(A) A square (B) A rectangle
(C) A circle (D) A triangle

fr=faRaa 5 9 a9 ATIBID BT IR 87
(A) @it (8)- STRIT

SSF JAMIA MILLIA ISLAMIA

EECR N R o B
Ttk tetrahedron o Ut g
e W
2L (D) o (O

6. British came to India as :

(A) Social reformer (B) Inventor

(C) Ruler (D) Traders
fafesr vRa & anw:
(A) SIS ERD B w5  (B) ISHRP B w5y ¥
(C) =T & wY (D). =Y B w5y
| :LTu:uu;mJj4
ceoder (B) —edu o )

==tz (D) eSS ¢ UL ()

7. How many languages are accepted in Indian constitution?

mﬁwﬁaﬁﬁﬁ%ﬁw?ﬁwaﬁﬁ%?
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(A) 22

(B) 28
(C) 15 (D) 20
8. Bi-Hinduism started in the year
STeNT g e 9 o gar ? |
?mC;/“JL«u/;/muw
(A) 1870 (B)1878 |
(C)1865 (D)1861

9. Which one of the following is a fundamental right?

(A) Right to freedom of religion (B) Right to property

(C) Right to work (D) All of these.
FefaRed 5 & B At afier £?

(A) &9 Geel IfRrPR (B) Ul T SrfdHR

(C) PBTH TRA BT AfpN (D) Sudad &

S TSN — it 500k
JEil  (B) TESIEL (A)

SSF JAMIA MILLIA ISLAMIA

uﬁ'/Ul,.?/X/' (D) Cf(d_/rg ©
10. The rights provided by constitution are called
(A) Governmental Rights (B) Optional Rights
(C) Economic Rights (D) Fundamental Rights
AT gRT yed fhy MY ARGRI B ... Bed ©
(A) TRPNI IfTHR (B) dfeus AR
(C) 3Teie 3febIR (D), WiifeTes SR |
ML SIPELL BEF LT

GPEAE (B) SERT RN

SEATT ) SRS
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11. In which year Bengal was divided into two parts?

STer @) frg @ |1 wEN A 91eT T P

S’(:fgﬁﬁu.‘.'u:"ndl/‘fffdf‘f.
(B) 1910
(A) 1905
g (D) 1920

12. Who was the first governor general of independent India?

(A) Dr.Rajendra Parsad (B) Dr. S. Radhskishnan

(C) Mahatma Gandhi (D) Mount Batten
WIS RGBT TH M= SR i 77

(A) STo XTSI YIS (B) Elo THo T [T

(C) FETHT Tier (D) WSHe ded

s 200 Il

SSF JAMIA MILLIA ISLAMIA

Sl 2 (B) - :l?/?/ﬁ?’fﬁj (A)
g=ed (D) T aN(®)
13. Who was nominated as a permanent member of constituent
assembly?
(A)Dr.Rajendra Parsad (B) Dr. S. Radhskishnan
(C) Mahatma Gandhi . (D) Dr. B.R. Amedkar
AT F41 4 fbae! Rl Wew @ wu W wEa fpar ot o
(A) STo 3ol UFE (B) STo T¥o MM G
(C) w&TcHT el (D) STo dlo 3Ro rJTHY
G e 2o P T
o e AP (B) g2 B (A)
Jiei3Ys (D) Sy (O

14. Democracy means:
(A) Rule of people

(B) Rule of minist
(C) Rule of speaker ister

(D) All of these
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(A) & AFIRST BT I (B) i3l T A
(C) TR T IR (D) wiT
:".(}:'V et
=i (B) Flulfre (A
$ (D) ;/;GJ/:/’ (9]
15. Separation of religion from the state means
(A) Socialism (B) Democracy
(C) Secularism (D) All of these
ST | g9 B gy &1 3ref B
(A) HATSTATS (B) lrehei=
(C) =¥ foRuetan - (D) it
SSF JAMIA MILLIA ISLAMIA o A J*.‘T".' ety
=t (B) Az (A)
T (D) S AN(®)
16. Sacred book of Muslim is:
(A) Ved (B) Quran
(C) Namaz (D) All of these
AT BT €T T &
(A) a5 (B) BRI
(C) 7T (D) FE Wil
e 25 SF AU
J7 (B A S
& (D) MOy
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17. Narora Nuclear power sioflon i [5e8tFS ir(ll:%) Uttar Pardesh
(A) Tamilnadu
(C) Gujarat (D) Karnatale
RN PSR U T Del R g7
(A) aTfier TS, (B) TR
(C) ORI (D) I
?‘%fﬁ‘ug@&’?u}gﬁ(gu;)
Figs (B) s (A
£ (D) =1 (©)
18. Earthquakes usually occur at boundary of
(A) Crustal plates (B) Mantle plates
(C) Coral plate (D) Volcanic beds
B YT ... D WA R B 8
(A) e wie (B) ¥eel wie
(C) BRA =i (D) ST orgel
“
S st S 1L
| eddboid (B A8 F A
FAEFT (D) sidd (©

19. Other than boundaries of crustal plétes, earth
within areas with
(A) frequent civil activities
(B) frequent explosive activities
(C) frequent deforestation activities
(D) frequent volcanic activities

i ARl & SIfORE, 95 B & § o & wey &
(A) ArTR® TS ager & (8) faewles wfifafy ager o
(C) IUI-FCIg gl & (D) waTeTER Tffafey ager &

quakes may occur
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5wl vuret s8207 (A
5w plnliessni I (B
A TAN ST (®)

LS p Ly T (D)

20. Magma which is forced onto Earth's surface is known as

(A)Vent ~ (B) Cone
(C) Lava (D) Magma Chamber
AT S gl Y AT W Goqdd oS S ¥ AP ... HET ST T
(A) de (B) I
(C) @rar (D) FFHT Pl
‘Llﬁgbj/....:((jlrwz_lg;)ﬂujf{,i/‘fdf)ﬁb?
v/ (B) e (A)
A (D) sy (C) -
21. Himalayas are considered to be
(A) Very young (B) Very old
(C) Middle aged (D) The oldest
feHTeraT @1 RS ST '
(A) dgd a1 (B) 98 QR
(C) 54 9T DI (D) I TR
SSF JAMIA MILLIA ISLAMIA
piinge e ls™ S s
gert (B) er (A)
& ae el ks (O
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22. A block mountain with a flat top is called a

(A) Limb (B) Slant
(C) Thrust | (D) Horst
ae RIER aTel <l UgTs P PEd &

(A) fore (B) Sl

(C) I (D) BRT ‘
| U Sy M—b(}gé/ ,

e ® S
e (D) - ¢//? ©

23. France had faced a shortagebf workers in year:

mﬁ%ﬁﬁqﬁaﬁaﬁﬁmmmwm?
IS L6 S Usns Y P E

(A)1972 (B)1960
(C)1970 (D)1947
24. Is India a secular country?
(A) Yes (B) No
(C) Can't say (D) May be
T HRT UF ey Sor & 2 S
(A) & (B) <7
(Q) Tl %g W (D) BT Wepar 2 ‘
. ?‘a&‘l:}/}?ugluu;ﬂg 5 ;
(®B) U (A
+Fs 0 LS ©
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25. How many languages are mentioned in the 8th schedule

amedl g # bl Wil BT S & 7

(A)14
(C) 13

?9_/5&,)];)5{ o AT
(B)15
(D) 22

26. The force between two charged bodies is called

(A) Muscular force
(C) Magnetic force

(B) Gravitational force
(D) Electrostatic force

31 AR frel & 9 & 9o B FEd © -
(A) R 9o (8) ToTHHIT Tl
(C) T ga (D) Rer faggfie! <
S = F ol n LT
=P B =idu (A |
=F G (D) e (O

27. Magnetic force is
(A) Contact force
(C) Both A and B

FEBIT 9 o
(A) FUD I
(C) A 3R B TMI

S ety (D)
28. Force acts on an object may change

(A) Direction
(C) Speed

11

SSF JAMIA MILLIA ISLAMIA
(B) Non-contact force
(D) None of these

(B) 3FI®H g
(D) S7H I BIE &

=L, (A)
U:’»BAIA ©

(B) Shape
(D) All of abovye
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s | (B) S

c

A o wgman
‘g.é’c J;yca}.’. U'u-.f/,;i’ul ‘

F B® e (A)

) G, (©)

29. Highest percentage of air consists of

(A) Oxygen (B) Carbon dioxide

(C) Nitrogen (D) Argon
arg # ... B IREaH yfoRa A7 ©
(A) SHTRATST (B) P TS AR S
(C) SgIo | (D) T
‘L/lﬁfﬂ(}ojgjc,..,.«/d/ ....... Ul
2Uidsw K (B) T (A
| kT (D) P (©
30. Green House gas is
; (A) Nitrogen o (B) Oxygen - - - -
(C)Methane (D) Carbon dioxide
§ derr eR A9 #
| (A) RIS - (B) STeRdreT
i Sk b (0) B 37 aeTES
Z‘Luf/’/fwi
T (B) LA (A)
A5k D) u:"?': Q) v
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31.CNGis a

(A)Polluted fuel
(C)Harmful fuel

CNG &

(A) wgfT Sere
(C) T®R® =M

‘Ao (D)

32. Pollution of water is responsible for
(A) Oil refineries
(C) Sugar mills
SH—UGHYT BT BRI §
(A) Tl GTRYHRO
(C) d=r e

SSF JAMIA Mli.l.lA_ ISLAMIA
NEeW Uell

o8¢ (B

g D)

33. Chlorofluorocarbon is used in
(A) Refrigerator
(C) Perfumes

(B) Clean fuel
(D) None

(B) W5 M

(D) T4 9§ DIg 7l
:=CNG
cj: ;;b::rl’ (A)

J:,L':;'.-.'c,' l.-‘::-: (C)

(B) Paper factornies

(D) All
(B) SIS Bagl
(D) =1
AN
LJL ~ |3 Jd/bf (:&)
SO

(B) Air conditioners
(D) All

FARTHAR] BIET BT GAM ... LRSI

(A) THTOER
(C) g |

13
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%Uﬂu: ........... JL’:/’KC}:JK)J)BJJ}K

Az (B) rifs (A)
§ O =t (C)

34. Thyroxin is produced by

(A)Pituitary gland (B) Adrenal gland
(C)Thyroid gland (D) Testes
IRRIRSI ... ERT 99T © |
(A) Urgy ufer (B) Usriel UfY
(C) UmRIE U | (D) GBY Ui Ufey
‘4.17.*.4’/5.1 ...... (_[:)7//[3
wi Sl (B) )u&'J_b(u" (A)
< (D) w3 (C)

SSF JAMIA MILLIA ISLAMIA

35. Fertilisation is called

(A) To produce sperm | ' (B) To produce eggs
(C) Fusion of sperms and eggs (D) All of these
REES - Bl FHEA &
(A) PO FFFT (B) 3US AT
(C) IPIVL VT IS BT Hergd (D) it
S e S84
L'/r'&f:};f-"wl- (B) a2k (A)
Lﬁl (D) L'/’/L‘Jlfg/:u;f."n)b:/)’u(. (C)
36. Which is the brightest planet in the universe?
(A) Mercury (B) Venus
(C) Earth (D) Saturn
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SEAS H FIY THDAT T DT & ?

(A) 981 U7 (B) I TE
(C) gedi (D) o< U®
?c“_lru;(u.l‘/ﬂg;czr__./u:'al‘:{
v (B) shes (A)
S (D) DR ()

37. Stars appear to move from

(A) West to east (B) East to west
(C) North to south (D) South to west
AR Fed Tdd B B
(A) Uf=M ¥ qd &I AR (B) T4 & =M BT AR
(C) STR I M & AR (D) <RroT ¥ I Bl IR
ujZ.nr)’” il St e

SHpedf B S A

38. Project Tiger was launched on SSF JAMIA MILLIA ISLAMIA

SR URASHT &9 TS I TS 7
?dﬂ\_.f:«lcj/:’(_;g.y‘."/glt*
(A) 1April 1973 (B) 23 May 1973
(C) 21 September 1973 (D) 25 December 1973
39. Sanctuary is a place where
(A) Animals are protected (B) Plants are protected
(C) Office of forest department (D) none of these
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(A) TIgRIT BT ReAT B I © (B) O T [ReW Y W &

(C) To1 M 7 B (D) 377H W Bl Tl
UQZ‘LJ;MD%U;,
‘Lt‘ﬁb}fn Ku»{f (B) c‘_t’yzﬁf K u;/ﬂy (A)
u’j’é)fa,ufc)l (D) }’)K&lﬁ’f (C)
40. The growing more and more of plants is called
(A) Deforestation (B) Afforestation
(C) Reforestation (D) None of these
el o S ¥ I1ftd IRy Bl HEd ©
(A) T (B) @iIehRoT
(C) QIduRIgoT (D) ST ¥ BIg &I
%JMf;ﬁlJu»gup;,op
L3, (B) glwlﬂ_}{’ (A)

uf‘";éfc,ufcﬂ D) aﬂé%alf- ©

SSF JAMIA MILLIA ISLAMIA
41. Eardrum is a part of N
(A) Sound producing organ (B) Skeletal system
(C) Hearing organ (D) Reproductive organ

(A) &afTy of (B) 3R—fUsR yomedt
(C) STaoT 3T (D) USRI 3T
e 2.6
BYZ L5 (B) AL Sl (A)
49 (D) P = AC)
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42. To and fro motion of an object is called

R
e U

(A) Waves (B) Amplitude
(C) Vibration (D) All of the above
Rl T <Y o Y B IRy Y @R & -
(A) <R (B) faiofan
(C) U= (D) Y
S TLE S
sl (B) FERCN)
TN¢b) ST (®)

43. The Taj Mahal is being affected by
(A) Noise pollution
(C) Water pollution

LB B)
S8 D)

44. The egg is

(A) Egg gamete
(C) Both of these

ST g
(A) 3T BT NfAe
(C) THI

SSF JAMIA MILLIA ISLAMIA

(B) Air pollution
(D) none of these

(B) I UgHUT
(D) ®Tg &I

Lf»’lﬁr’ (A)
ST (©

(B) Female gamete
(D) None of these

(B) HI&T THe
(D) 39H & BIg 78I
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el (B) a;'?}_:ur (A)
uﬁ; (jfc_u.‘.'u:?u (D) (Jj» (C)

45. The pitch of sound depends on

i ]

(A) Frequency | (B) Amplitude
(C) Both of these (D) none of these
R B T PR T § - L
(A) IRIRGT (B) fawdrofar i
() =i (D) T & P T
‘4.(3/ /"’} Lrreraressannes é/ d/jI:T
gl (B AF (A
(jf;(jfcufu’ (D) u;’:) +{C)
46. Large amplitude of sound vibrations will produce: deaebaity i
(A) Loud sound (B) Meek sound
(C) Slow sound (D) Shriek
(A) ST ST (B) 2Tt SrraTSy 5 ‘
(C) &) araTst | (D) drg

:‘a(}/l,y,ju,{.;’f GL‘“«‘IKJ N

s (B) MG (A)
z (D) g (C)
47. A place in environment where an organism lives is
(A) Home (B) Resort
(C) Habitat (D) Reservoir
18
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(A) R (8) TRTE
Y 2= S LS Lz undat
¥CF B 4w
23 (D) & ©

SSF JAMIA MILLIA ISLAMIA

48. When two forces act in opposite directions, then net force acting two

forces is:
(A) Sum of two factors (B) Difference between two factors
(C) Both of these (D) None of these
5T < a9 e e ¥ oW o €, 99 <l 9t W B XA arell
ﬁﬂu'l TH T o
(A) BT BRDI BT AN (B) TT PRDI ® dId BT IR
() < (D) T & Prg Tl

:;_'_-.:,:.’.ul"(dl:L/r(b//?u;}u:}ub.}‘ruj(}/(b/ufMJ(?U.’;}»._,«%
o/ E/CJ,L_’J)LJ $udss (B) st K15 (A)
ij é[ =uJ-) (D) I (®)

49. Air pollution causes
(A) Global warming (B) Respiratory problems
(C) Soil erosion (D) None of these

(A) fdza o= (B) Ta-—ae e
(C) faest &1 &R (D) T I PIS 7TEI
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St ® Sl (A
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50. Rubber requires RO

(A) Moist and humid climate  (B) Rain fall of more than 200cm
(C) Temperature above 250C (D) All of these

IR P ... DI ITTHA BT B
(A) 3MTE T& 79 Slofary (B) 200cm & 31y @yl
(C) 25°C ¥ 1% qroE (D) T

c"_‘}ﬂ_w; /‘d/. ............ 's be
JJ/LD:&)LZOOCIH B) Lﬁn;?lﬂé’fj}lgﬁ/r/ul{ (A)
(f" (D) J&Jlfgj)v)klc.250c ©

S51. Which of the following is the cube root of 270007
feferRaa & & P19 27000 &7 g & ?

® e l6270000s it 550
(A) 30 ; ' (B)300
(C) 3000 (D) None of these

52. If a number is doubled then which of the following is a correct
statement?
(A) Its cube is two times the cube of the given number.
(B) Its cube is three times the cube of the given number.
(C) Its cube is six times the cube of the given number.
(D) Its cube is eight times the cube of the given number.
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I fHxl e @1 < o e Ry e o FrefRed § @ BT weE
3IF &7

(A) TP B9 < TS HEqr B e § | ©
(B) $HT U & TE < & g W AT
(C) THHT & <7 7 Weem & o 9 B T ©
(D) SHPT BF & TE W B o9 W S O @

?‘au»ugw/ -0 J;J,cx}"?_tgp/ Lf»/wu’( /i
e AL w1 (A
Vf ek Lsw s A (B)
VgeALud s (©)
Ve AL sud e s (D)

SSF JAMIA MILLIA ISLAMIA

53. The volume of a cubical box is 64 cm3. Which of the following is its
side?

TF TN WEF HT AT 6acm’ & | FRaT & B gqDT Yol 87
?é.ézt{utufa,ufdjg/p_‘aﬂ cm?(@ﬂu_ﬁzﬁ{l

(A) 2 cm (B) 4 cm
(C) 6 cm (D) 8 cm

54. Which of the following is correct?
(A) Cube of a negative number is always positive.
(B)Cube of a negative number is always negative.

(C) Cube of a negative number may be positive or negative.
(D) All of the above

fr=feriaa 4 3 oM @& 87

(A) Tl T FOIIcHD T ST &9 Wl g Bl &
(B) =il T oTHS AT &1 99 WeT oS 2 &
(C) it 1 FeomeHe R BT o FeoMHE T SIS B GopdT 2

(D) Sudad &
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?‘gé" et o sne
ctred i A (A)
ctnld” A6 (B)

e Lufred Al (O
TA)

5S. Which of the following is the value of (4 / 5)° /(4 / 59
fFrfeaT #§ 4 B (4/5)°/ (4/5)° @1 qow 82

e s8S(4 /59 / (4 ] SpuS Ut i o

(A) (4/5)18 (B) 4/5
(€)1 | (D) (5/4)°

56. “If speed is more, then time to cover a fixed distance would be less”.
This is a case of:

(A) Inverse variation (B) Direct variation
(C) Indirect variation (D) None of the above

"afe i e & o1 U & TE g B a9 B ¥ B9 wHg |

(A) Ufre™ gRad+ (B) e R
(C) 3ycger gRad (D) SWH # W B
./"_Jlrb/....,-“E’/ﬁcﬁﬁH/ufL/i:@wts{f)-{'ﬁm;g]ffiuﬁl”

= bby (B) =PU s (A)

SO S osr (D) =L, (C)

SSF JAMIA MILLIA ISLAMIA
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57. If ‘A’ can finish a work in ‘n’ days then part of work finished in 1 day
is:
gﬁ'A' ey @ @1 n AT o 9x7 FRar & @ 1 RF # fhan wam ww vm

:4"_,47((‘-,:(!{( U:UJJ:';‘LVﬁ/{.’ U ns; rK&A' l
1

(A) 1-n (B) n
C)n-1 (D) None of these

58. If %<’ and ‘y’ are in a direct proportion, then which of the following is

correct?
afy % iR Y yeme e ¥ B A FreRad ¥ | I wE g7
?g,gu/:,uﬁdj,?uy?nuf./t?:/l/'Y'J;l'X' I

(A) x —y = constant - (B)x +y = constant

X
(C) xy = constant (D)y =i

59. Which of the following is the number of vertices of sphere?
Preforad 3§ & @ Tl & Rrdfag @1 wer 87
?9”»‘7&2@]@&/—7@[{;%@5;/}/
(A0 L

(C) 2 (D) 4

60. If base area of a room is 12 m? and height is 3, m then its volume is:
afe fordl B BT AR &AFA 12 m? ¥ 3R S 3 m & O S

I B
¢ 6173 mOsie 12 w23 KL ST
(A) 4 m? (B) 36 m3
(C) 12 m? (D) 18 m?®

23
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61. Which of the following is equal to 1 kilolitre?
o # 9 B 1 el ofier & WM &7

?4‘:_/.1/.£/".41..l‘/1 ufc_ufdjjgu'f

(A)1000 millilitres (B) 100 dm3
(C) 1 dms (D) 1000 dm3

62. By joining the points (-3 , 2) , (-3 , -3) and (-3, 4) in the Cartesian
Plane, which of the following is obtained?
(A) A triangle
(B) A straight line not passing through origin
(C) A straight line passing through origin
(D) None of these

FHIfdg ad # g (-3,2), (-3, -3) R (-3,4) B Fam w® F=fRad § 9
DI U BITT?

(A) U et

(B) T Wil Y@ S ot fig | 78 Yol ©
(C) T A X o gof g § Tord §
(D) 3H | B3 7Bl

e P of e S i s bA3,4) (=3, 2) L3, D) il 7 K
sl (A)
0SS e s B)
4‘-3/}( c,l,yﬁ(f‘v B (C)
S ety D)
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63. pqr is what type of polynomial?

(A) Monomial (B)Binomial
(C)Trinomial (D) None of these
pqr e THR & FgUT €7
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(C) Pt =i (D) ST @ P13 Tel
fe &AL AV par
@ (B) ol A
et (D) i (©

64. What is the value of 5x25 - 3x32 + 2x°12 at x=1?
5)(25 _3x32 + 2X-12 @7 _a:(qq. T ,'} e X=1?
X=1fu?.d/ng;>«{:’.u(5x25 - 3x32 + 2x712

(A) O (B) 2
(C) 4 (D) None of these

65. a2-b2is a product of SSF JAMIA MILLIA ISLAMIA

(A) (at+b)(a-b) (B) (a+b)(atb)
(C) (a-b) (a-b) (D) None of these

66. If an article is sold for Rs 100, then there is a gain of Rs 20, which of
the following is the gain percent?

Ay feed axg BT 100 Wo H T M W 20 Wo Bl AN AT Al

frfoRad # & B9 P BT Uferd &7

o w6 B et s s I I L 12040 S =53t e 31005 257/
(A) 25% (B) 22%
(C) 20% (D) 16%

67. If the C.P. of 25 chairs is equal to the S.P. of 30 chairs, find the loss
percent.

afe 25 FRIAT BT Y Jod 30 HRIT & [Ihg qou & qurex & A, =1
T yfcrerd R
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{ﬂ,wJguuﬁ?a;_/,l/,:ﬁ&5}&“«5&0%/304)@&}@;{/25/&;
(A) 18.6% (B) 16.6%
(C) 20.6% (D) 32.6%

68. Find the compound interest on Rs.8000 for 9 months at 20% per
annum compounded quarterly.

y
20% T B X W 9 HEMT @ fTQ 8000 Wo BT THYES TSl foher

BT 79 &Tel &Y OF FElY R SISl Sfe?
L 32 S o Skt S 60,8000 LUt 940 2w 1L20%
(A) Rs.300 (B) Rs.1261
(C) Rs.200 (D) Rs.600

69. If 14 kg of Rice cost Rs.441, what is the cost of 22 kg of Rice?
IfE 14 kg AT BT G 441 o &, @1 22 kg AT BT Y& feberaar B2

(A) Rs.793 (B) Rs.650
(C) Rs.590 (D) Rs.693

70. If 6 men or 8 women can do a piece of work in 20 days, in how many

days will 3 men and 6 women do the same work?
afe 6 gou a1 8 A foell o P 20 R # Fed 2, S P Bl 3
7%y ud 6 ARG fose foaAl # B
?JQ/JU])E’I&J;’@:IJ/:’)erJI;UEL/LI:ui:ZOJ(rb/ojufJfSEJ/6/l

(A) 8 days (B) 10 days
(C) 16 days (D) 18 days

71. Find the square root of 0.09

SSF JAMIA MILLIA ISLAMIA

0.09 BT A ey |
| 26 360.09
(A) 0.3 (B) 0.03
(C) 0.9 (D) None
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72. Two lines are respectively perpendicular to two parallel lines. Then
these lines to each other are

(A) Perpendicular (B) Parallel

(C) Intersecting (D) Inclined at some acute angle
afy <1 T e < WA Y W o a1 98 < Y
TRER -

(A) o § (B) IR &

(C) VTG Bl Pl & (D)ﬁmﬁzqaa#nuwgﬁﬁgﬁf%

U~ el uﬂ»,;’uj)/ 417:55 d}b’" ns ﬂ, b5 50)1
s (B) Ut (A

U.?é—ﬂzt{,ubdﬂ)(f( (D) uj.“r.l(/g/»vg ©

73. What do you call a figure formed by two straight lines having a
common point?

(A) Angle (B) Triangle
(C) Rhombus (D) Kite
ST 3l (ﬁlﬂﬁﬁ@ﬂﬁ%mﬁ)ﬁﬁa@%ﬁsﬂqmzﬁ%ﬁ?
(A) DI (8) fArprur
(C) FTATH (D) T
s L WP G 7 162 b5

e (B) 2 (A)
& (D) s F(©

74. On dividing 6y27 by 23, we get
6@@2@@%&%&%@@%%
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i S < 231 627
(A) 3v9 (B) 6
(C) 9 (D) None of these
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75. Which of the following is the standard form of 0.00001275?
frfaRag & | B9 0.00001275 &7 AT B9 &7

*e FA§0.00001275 05 = Ut s i

(A) 1.275 x 105 (B) 1.275 x 105
(C) 127.5 x 107 (D) 127.5 x 107
Passage-

At this stage of civilization, when many nations are brought in to close
and vital contact for good and evil, it is essential, as never before, that
their gross ignorance of one another should be diminished, that they
should begin to understand a little of one another's historical experience
and resulting mentality. It is the fault of the English to expect the people
of other countries to react as they do, to political and international
situations. Our genuine goodwill and good intentions are often brought
to nothing, because we expect other people to be like us. This would be
corrected if we knew the history, not necessarily in detail but in broad
outlines, of the social and political conditions which have given to each

nation its present character. SSF JAMIA MILLIA ISLAMIA

76. According to the author of 'Mentality' mentality of a nation is mainly

product of its .......
(A) Present character — (B) International-position -

(C) Politics (D) History

77. The character of a nation is the result of its.........
(A) Gross ignorance (B) Cultural heritage
(C) Socio-political conditions (D) Mentality

78. The need for a greater understanding between nations........

(A) Is more today than ever before (B) Was always there

(C) Is no longer there (D) Will always be there
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79. Englishmen like others to react to political situations like......

(A) Others
(C) Themselves

(B) Us
(D) Each other’s

80. According to the author his countrymen should...........

(A) Read the story of other nations
(B) Not react to other actions

(C) Have a better understanding of other nations

(D) Have vital contacts with other nations

81. “God Bless you” is
.(A) Optative sentence
(C) Both A and B

82. The synonym of connect is
(A) Chain
(C) Join

83. The antonym of ancestor is
(A) Forefather
(C) Death

84. The antonym of optional is
(A) Necessary
(C) Conditional

85. The aero plane flew
(A) On
(C) Upon

(B) Negative sentence
(D) None of these

(B) Link
(D) Tie

SSF JAMIA MILLIA ISLAMIA

(B) Descendent
(D) Diffident

(B) Compulsory
(D) Involuntary

our head.

(B) Over
(D) None
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86. Infiltrate
(A) Groupe of attackers
(B) Men from neighbouring country
(C)Terrorist
(D) Secretly and gradually gain access

87. Contrived
(A) Managed to do something in spite of difficulties
(B) Unable to do anything
(C) Confused
(D) Excited

88. Flutter across
(A) Move in a slow manner
(B) Move in a orderly manner
(C) Move in a haphazard way
(D) Move in a quick manner

89. Panicked
(A) Without expression

SSF JAMIA MILLIA ISLAMIA

(B) React in a fearless manner
(C) Those who recently learned to read and write

(D) Group of old people

90. Run out of
(A) Nothing left (B) A pending job
(C) A well-planned system (D) Completely filled

91. Volatile
(A) The property cannot be changed
(B) The property can be changed
(C) Liable to change rapidly
(D) Unable to change rapidly
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92. Bafflement
(A) Thrilled
(C) Puzzled

(B) Excited
(D) Confused

93.1 am ----- tennis every Sunday morning

(A) Playing (B) Play

(C) Am playing (D) Am play
94, --------- many times, every winter in Manali.

(A) It snows

(C) It is snowing

95. How many students in your class
(A) Comes
(C) Came

96. Babies------ when they are hungry.

(A) Cry
(C) Cried

97. What time-------
(A) The train leaves?

(C) Is the train leaving?

(B) It snowed
(D) It is snow

from Patna.

(B) Come

(D) Are coming

(B) Cries
(D) Are crying

(B) Leaves the train?
(D) Does the train leave?

98. [ wish you----- making that noise. Its bothering me

(A) Would stop
(C) Stop

100. He----to me silently
(A) Talk
(C) Talking
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(B) Are going to stop
(D) Can stop

(B) Are
(D) This

(B) Talked
(C) Talks




